Written Examination for inspector of Motor Vehicle/Add| R.T.0.(Enforcement}/Asst. Works

Engineer in Group-B held on 4.6.2017

AUTOMOBILE ENGINEERING

Distribution of Q uestions in different series with answer

,1 . Series A Series B Series C Series D Answer
- 1.~ 16 o~ 31 & 46 & B ~ 4~
2 - 17 o 32 47 & B~
37 18 .~ 33 48 o B~
4 -~ 19 o 34 49 c~
5 -~ 20 35 50 — D~ ¥
6 ~ 216 36 < 51 B~
7 ¢ 22 37 o~ 52 T
g8~ 23 == 38 ¢« 537 B, -
9 24 &~ 39 &= 54 = c - ‘
10 ¢ 25 40 - 55 == Br
11 & 26 41 w= 56 ¢ B~ g
12 »~ 27 42 ~ 57 A~ L
13 & 28 o 43 o 58 ¢ D~
14 & 29 o 44 = 59 = D~ .
15 « 30 = 45 o 60w cC~
16 o 31 e 46 61l &= I
17 32 = 47 o 62 6= c-
18 ¢ 33 43 == 63 = D <
19 « 34 - 49 »~~ 64 — D~ -
20 ¢ 35 50 e 65 =7 D~ -
21 & 36 = 51 o= 66 o c- .
22 ¢ 37 - 52 = 67 ~ D~ .
23 ¥ 38 = 53 & 68 = B ~ =~
24 o 39 = 54 = 69 & D~
25 ¢ 40 55 & 70 =~ AC v
26 & 414, = 56 < 71 - D - .
27 ¢ 42 57 ~ 7201~ B~ .
28 43 ¢= 58 73 & Db 7~ .
29 o~ 44 5 59 . 74 D~
30 < 45. & 60 ~ 75 o p—
31 « 46 o 61 76 B~
32 + 47 + 62 77 o B~ 4
33 ¢ 48 ¢ 63 78 Cr A
34 ¢ 49 64 79 - D~ A
35.¢ 50 o+ 65 = 80 c” 4
36 ¢ 51 66 81 » c - 1
37 & 52 67 & 82 c- I
38 ~ 53 ¢ 68 = 83 B,
39 o 54 ¢ 69 84 ~~ R
40 55 - 70 = 85 vt A< 4
41 & 56 71 e 86 [ ' g
a2 & 57 = 72 o= 87 .. A =
43 ¢ 58 & 73 & 88 v D~ '
44 7 "59 o= .74 = 89 *° B~
45 ¢ 60 ¢ 75 o 90 v D~ 4
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Written Examination for Inspector of Motor Vehicle/Addl R.T.0.{Enforcement)/Asst. Works
Engineer in Group-B held on 4.6.2017
AUTOMOBILE ENGINEERING

Series A SeriesB Series C Series D Answer
46 ¢« 61 » 76 91 & B~ 4
47 < 62 = 77 o= 92 - c~ ¥
48 63 78 - 93 ¢ c - 4
49 ¢ 64 e 79 o 94 = Cr ¥
50 ¢ 65 80~ | 95 = I
51 ¢ 66 81 = 96 o p -~
52 ¢ 67 v 82 « 97 < A~ )
53 ¢ | 68 _.. 83 (- 98 ¢ cs r
54 69 g 84 99 &= "B ¢
55 & 70w 85 v 100 & B~ 4
56 ¢ 71 & 86 1 - B’ ¥V
57 < 72 - 87 = I c ~ A4
58 < T 73 e 88 3 B -7 4
59 74 & 89 «* 4 -~ C~ ¥
60 75 = 90~ 5 e D~
61 ¢« 4~ 76 = L+ 91 A 6~ 7 A< )
62 « 77 o 92 &~ y= A~
63 ~ 78 & 93 - . 8 - b-
64 79 94 ~ g — p-
65 80 o~ 95 ~~ 10 c- 4
66 7 81 o 96 11 c -~
67 - 82 97 12— B~
68 83 98 — 13~ c-
69 ~ 84 = 99 e 14 e B ~
70 ~ 85 = 100 # 15 c 7
71 86 wr 1 = ' 16 == Dr
72 87 p g 17 = A S
73 » 88 wr 3 = 18 o= c -

74 - 89 - 4 - 19 o= B »
75 & 90 - 5 - 20 == c -
76 ~ 91 -~ 6 = 21 - c” ¥
77 < 92 «* 7 = 22 == A s 4
78 93, g 23 - B /- V
79 - 94 9 24 B » ¢
80 ~ T 95 — 10 -~ 75 - B~ &
81 ~ 96 = 11 < 26 =" D+ A
82 ~ g7 v 12 — 27 «* c~ /]
83 98 ~* 13 « 28« B 4
84 9g = 14 ¢ 29 Not Valued-%~
85 « 100 <= 15 & T30 Not Valued”™ ,;
86 1+ 16 « 31 A -~ ]
87 ¢ 2 e 17 = 32 = c - |
88 ¢ 3 = 18 & 33 B ~ ¢
89 ~ 4 o 4 19 e 4 34 = 4 B 7 1
90~ 5 o 20~ 35 p -V
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Written Examination for Inspector of Motor Vehicle/AddI R.T.0.{Enforcement)/Asst, Works
Engineer in Group-B held on 4.6.2017
AUTOMOBILE ENGINEERING

Series A Series B Series C Series D . Answer
91 o 6" L 21 | 36~ A4 B < 7
92« 7= e 37 - c ~
93 7 8 - 23 oo 38 B »
94 ¢ 9 24 39 ~ B -~ /;
95 10 25 o~ 40 ~ A~
96 11 ~ 26 -~ a1~ A .
97 12 - 27 & 42 <~ c » 4
98« 13 7 28 ~ 43~ D -~ A
99 « 14 29 < 44" B .~ 4
100 ~| 15 7 30 © | - 45 ~ e
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Written Examination for Inspector of Motor Vehicle/Addl R.T.0.(Eriforcgment}/Asst. Works

/ " Engineer in Group-B held on 4.6.2017
: Distribution of Questions in different series with answer
MECHANICAL ENGINEERING
A Series A Series B Series C Series D Answer
) -1 e 16 o« 31 & 46 B L
2 -~ 17 .- 32 . 47 ¢ A -~ |
3 - 18 = 33 e 48 »* c — }
4 - 19 & 34 49 = B — |
5 - 20 & 35 & 50 == A - )
6 ~ 21 ¢ 36 51 D ~
7~ 22 7 . 37 =" 52 D -~
8, A4 23+~ 1" 38~ L 53~ [ B - |
-9~ 24 " 39 « LT c -~
10 - 25 «~ 40 = | - 55 & c -~
11~ 26 v 41 56 « D -~ 4
12 ~ 27 & 42 & 57 & B r
13 - 28 ¢ 43 58 & c -~ -
14 -~ 29 v 44 = 59 = B~ .
15 - 30 » 45« 60 < B »
16 - 31 »~ 46« 61 » A
17 ~ 32 47 - 62 « A~ Lt
18 ~ 33 " 48 ~ 63 =~ B~ .
19 - ‘34 ¢ 49 ~~ 64 A2 4
20 ~ 35 ¢ - 50~ 65 < c - )
21 ~ 36 51 66 B .~ .
22 ~ 37 & 52 67 < A~
23 7 - 38 ¢« © 53 en 68 <~ B ~ .
24 -~ 39 54 - 69 — . A~ F
25 <, 1 40 & 4 5 e« 7 W0~ 7. A2 &
26 ~ 41 =~ 56 ¢ 71 < D -~ [
27 ~ 42 ~ 57 & 72 & c - 4
28 -~ 43 & 58 e 73 = A -
29 - 44 59 &~ 747 A~
30 ~ 45 &= 60 = 75 e B~
31 - 46 = . Bl e 76 #* D - 4
32 ~ 47 ¢ 62 = 77 &= D~ 4
33 ~ 48 o= 63 #* 78 -+ C v
34 ~ 49 64 e ¢ 79 C.. 3
35 ~ 50 o 65 o 80 = B -~ £
36 ~ 51 e 66 s 81, D~ ¥
37 ~ 52 ¢ 67 w 82 = D - -,
38 53 = 68 & 83 o= D - &
39 « 54 o 69 = 84 o B - A4 -
a0 « 55 &= 70 - 85 = Not Valued — |~
41 ~ 56 o 71 = 86 s D,
- 42 - 57 & 72 87 = O §
43 - 58 +° 73 ¢ | . 88 &~ B ~ A4
44 - 59 = 74 &= 89 »= D~
45 7 60 75 e 90 e B <
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Written Examination for Inspector of Motor Vehicle/Addl R.7.0.(Enforcement)/Asst. Works
Engineer in Group-B held on 4.6.2017

MECHANICAL ENGINEERING

Y
R

SeriesA Series B Series C Series D Answer.
a6 61 ~ 76 91~ I
47 ~ 62 ~~ 77 < 92 ~ B~ 7
48 » 63 -« 78 ~ 93 «~ D ~ |~
49 » . 64 ~ 79 94 D ~ 4
50 ¢ . 65 80 95~ Not Valued =/~
51 ¢ 66 81~ 96~ B |
52 ¢ 67 ~ 82" 97 -7 B~
53 7~ 68~ 83 < 98 -~ A~ )
54 ~ 69 84~ 99 — A~
55 ¢ 70 ~ 857 100 = B~ &
56 ~ 71 — 86— 1 - B.~ J
57 < 72 87 ~ 2 - c -~
58 « 73 ~ - 88 ~ 3~ A~ 4
59 74 ¥ 89 &+ 4 = c -~ }
60 ~ 75 90 ~ 5 . A~ ¥
61 ¢ 76 91 « 6 — A~ ¥
62 « 77 ~ 92 ~ 7~ p .7V
63 78 - 93 8 -~ A~ ¢
64 79 ~ 94 ~ 9 * c~ V
65 80 ~ 95 ~ 10 -~ D~
66 81~ 96 ~ 11— D~
67 ¢ 1 82~ A 97~ 12— B o~
68 ¢ 83 ~ 98 ~ 13 ~ D .
69 ¢ 84 ~— 99 ~ 14 —~ C -

70 ¢ 85 100 ~ 15 g &
717 86 ~ 1~ 16 ~ D7 A
727 87 ~ 2~ 17 ~ B~
73 7 88 -~ 3 - 18 A- J
74 « T 89 - 4 ~ 19 — B~

i75 ¢ g0 ~ 5 20 AT
76 < 91 — 6 — 21 Br F
77 92 +~ 7 - 22 o c < |
78 ¢ 93 g — 23~ AT
79 94~ 9 . 24 ~ B 7 A
80 ¢ 95 »~ 10 ~ 25 -~ B~ _tb
81 96 11 = 26 ~ c -
82 97 «* 12 -~ 27 o HE
83 - 98 13 ~ 28 A~ 7
84 99 ~ 14 » 29 ~ D¢ J
85 ¢ 100 - 15 30 - B~ I
86 & 1 - 16 31 D¢
87 ¢ 2 - 17 = 32 Dr
88 « 3 18 -~ 33~ B - P
89 4 —~ 19 ~ 34 ~ C ¢
90 | 5 e 7 20 35~ a- € 74
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Written Examination for Inspector of Motor Vehicle/Addi R.T.0.(Enforcement)/Asst. Works
Engineer in Group-B held on 4.6.2017
MECHANICAL ENGINEERING

Series A Series B Serles C Series D Answer
91 | 6 -~ 21 < 36 B — ¢
92 & 7 — 22~ 37 « c ~ ¥
93 . 8§ 23~ 38 A~ -
94 .. 9 ~ 24~ 39 ~ B~ /
95 o 10 ~ o5 7 a0 , D - 4+
96 o 11— 26 a1 B -~ 7
97 ¢ 12 -~ 27 42~ c - )
98 | 13 | 25~ 13- B -~
9 < 1T 0- b g I A" g
100 15 7. 30 — 45 < B~ <
e m———— 0__- -




